0000000000 oor/o3000

01. 00 LCc¥00008,:% —PE)0 S(w):={veXlwwel}OO0
O000000L00000000000000 <=ImS, 000000

02 0000000DOODOOOODOO0OO0ODOODODOODOODOOODODODObOO
Oo0oboooboooboobooboboboooooboobooboboboobooooos
00 M=(Q,%,0,s,F)00000000OOOODOOOO

(1) L) =0, L(¢) = {e}, L(a) = {a} (a € X)

(2) 000000000000 M; =(Qi,%,0,s,F;) 0000000 L; =L(M;) O

O0O0Ly ULy, LiLy, L

03. ¥ 0alphabet 0000000 AeP(X*)0D000ADDDOOOODODOOO
000 X>\A0000D000O00DOO0OD00D0D0DODO0O0OO00ODO0O0O0DO0O0DOOn
O0000D0DAO0ODOODOODOOODOD MaODOOODODOOODOODODO ¥*NA
ODO00D0D0O00000O0oooooooon

0 4. X 0O alphabet 0000000 A BeP(X)0O0O0ODANBOOOODODODODO
0000000 DbO0o0o0ODO00bO0bO00OO0o0bO0bO0oDoOOoooDA, BOOODODOO
O00000 Ma,MpgOODOO ANnBOODOODODODOOODOOODDOODODOODODOO
0 de Morgan OO 00000

05. Y={ab} Oalphabet 000000000000 OOOOOOOOMD) OO
O000000(e) D0000O0O0ODOOO0O0OOODOODODOOOOOO( OODODODOOOO
0000000000000 (e) 0000000 OOoODOOOOOOOOO0O0Oooooo
OO00DO0D0O0DOO00O0m

06. ¥ ={ab} Oalphabet 000000000000 (G) 00000000000
0000000000 Pumping Lemma0 00 0000000000000000000
00MM(b)00000000()0000000000000000000000000
0000 0000000000000000000000000000000000
00000 m

(1) {a"b"|n > 0}

(2) 0000000

(3) ¢, 0000000

(4 0000000000000000000000000000 000000

07. S={ab+ — x,/,,)})0000“0000000070000

() 00000000
(2) 00000000000000000000000000000
(3) 00000000000000000000000000000000

Ooooooooooooooooooooooooboooooo+,-0000000
Oo0o0oooooooooobooOoooooooooboboooooom

08 O0O0O00000O0O0O0O0O000000010000000000000000
oboboooooooooooooo“sb0OoooboboOoooooboo"ooooboboOonn
00000 (finite state transducer) D00 0000000000000 0000O0OOO

() Jooooooooooooo
(2) 0000000000000 0DOO0ODOO0O000OODOO0O0OD0 ‘0000000
dooo”0ooooomoooboboooooooooooon
e J0OIOUODO ¥ ={ao0k,1,y}
e000D0ODTI={0,0,0,0,0,0,0,0,0,0,0,0,0}
(3) 00000000000 ODOO0O0DO00oOoOooOOO

—20170000 DOOOO0OO0O booooog 3—



09 0ObObLhOOoO0bbOoOobbOOooboboboOoobbuooobbooobbooono

() 0000000000000@MO00000000000000000000(

() 000000000000000000000000000000000000
000000000000 000000000000000000000Noon
0000 ©={a,b+,x%,(,)} 00000eb00000000 +,x00000
00000000000000000000

010. DOOoOoO0OOoO0bOOoOobOooboobOobbOobbooboobOoOooDg “o
0o0oooo0o0”0ooo0op0oooon +,—-,x,/0000000000000000O0
gooboogon

e 00000 (OO9Y)YODDOODDOO
e OO DOUOOOODLDODODUOOODDO
e OO UOOODLDOOOODLDLDOOOODLDOD

ddddoooooomodioodddooooooooooooooooooooot
011. O0000D0OO00DOO00O0O00O0O00O0O00O000O000O000D0000 Chom-
skyOOO0OGOQOdd
VOOOOOOOXO00000 (alphabet) D0 O0O0SeV OOO0OO0OOOOOO
S —=¢ e A— BC (AeV,B,C eV ~{S} e A—a(AeV,acl)
012, 000000 LO0OO0O Pumping Lemmald 0000000000 0OOOO0O
(1) 000000 LODOOO Pumping Lemma 00000
(2) LODOODO0OO0O00O ChomskyDOODOODOODOOOOODOD Y00 welLO
0ooooooooooooooon
B3 0DwelODODDOD TOODODODODwODODODOODODODOOOOO nOODODOO
O00wOO0O |wOODODODOOOOO
(4) LO0D0O0O0O0O0O0OO0 NOOOOODwelLOOOODOOODOOOOOOOOO
0000000000000 0000000000000D00wO00 |w OO
gooooon
(5) 000000 LOOOO Pumping Lemma 000000 Opumpingd pO N O
goobobbdoo@mbobbddwe LoD
Jddddooooooo 2000000000000 Pumping Lemma OO OO
oooooooonodmd

013. £ ={a,b} O alphabet 100 000000000() 00000000000
00000000000000 Pumping Lemma 0000 (b)) 0000000000
000000000()00000000000000000000000000000
00(d)00000000000000000000000000000000000(@

() 0000 2000000000000000 {wz\wEE*}

(2) {a"b"a™|n > 0}

(3) 0000000000000 0000DDOOO0O000000ooo0oo00oOoo

014. 00O X OODO (enumerable) 0000000000000 NOOOOOO
OX->NOOOOOoooooooooooo X = NUOOOooOooox ooooo
ogooooon

() 000000000000 0O0O0O000D0D00oOOOOODOOO0OOO

(2) 0000000000000 ODOO0OOO00DO0OOOODODODOOOOOOOOOO

(3) 0000000000000 0OO00UO0000CODO00DOOO0DUODmMOoOBO
goboobog

015, DOODO X 0O alphabet OO OD0OOOO0OO0ODOOOOODOOOOODOODOOO
gboboboooobboooobobon

() Do0o0oO000O00ooooOoooOOoOooOoOO

(2) 0000000000 OOOODOOOOOOOODOOO

(3) D000 ¥ 0O alphabet 0000000000000 OOOOOOO

(4) 0000 Y0 alphabet 00 0000000000000 OOOOOOOOOO
gobbooogboo

—20170000 DOOOO0OO0O Dbooooog 4—



